aF0 35y 5 2 % 15
[ELIERE S i ___ EEHREE
S e suskEr| w0 W w0 w4 [P FEHERTIBERIORES
% i a 2 # @ # e
b Tk i A X ik 40 | 11| Fe¥E HevE bRVE R - —
L AR X dak
1 FEF M — o lo@ti 5.8~ —| | —
2 RELS ORI 30 | L1 19 i 4.6 4.6 —| —
TRF AT Xk — | BB | MM fRA bti’%r@bti’é o
Gk pleikigze 30 | L1 15 RN B I
BRF1I~8TH |[&HK — | B8R | LI b g - —
V| B AT b X — | B ki b pedy | -
A LA X i
1 BRI B - e e e
2 ERLAORER 30 | Lz 34 43 13 13 | —
e 2 X —ift 9.08 5.8 —  —| —| —
RRELIAN O K 30 | L1 17 27l 458 4.5 —| -
Bl AfE1 - 2TH AL R — | B&M | teiE bhTg tti‘ij i I
T AL A X 30 | L1 20 37 3P 31— —
Ki#3~7TH [k ap(aES: — | BB | PRWE bRME LW kW - —
AL R Xl
1 R —f 128 o1 -~ - —
2 RS OKIER 30 | L1fo28f 37 31 31— —
fi] (ke gl — | B HeHE bW b bk | —
[Efeglerit dEer
1 REFIHRK — 13 15 -~ —| -
2 _EREbS oK 30 | L1 25 42 30 30 —| -
AMfil~10TH |2k = | BEAR | be¥E Lk pevE e |
N Tl I — | BEER | LkYE LhWE YR MLV - -
AT L AR X fak
1 BRI — 12 15 - | | —
2 EELUS XK 30 | L1 37h 4mR o200 200 | —




aF0 35y fis 2 % 2H
LI e il ___ EEHREE
o rm usard] m A m m 6 PN o PEBEERESLRISEES
% i a 2 # f# # e
oy BN g=ed - | BB [Ei - et I - -
B b X — | Bk l:tj J:tj b bl:j - -
Gkl e
1 MR —ft 1088 15— —|  —|  —
2 RS KK 30 | L1 29 32 4% 14 - -
it Eee ) — | BEAR | Lk¥E LLME HevE kMg | -
X i) — | B i:h::‘ bhyE k¥ MR | —
iz AT b X — | B | bkl b bedE pedE | —
AR X 30 | LI 17k 18 19 19 - —
BEF B FA i (X 35 —fti 7. T 5. e e
ERELASR O K s 30 | L1 16 23 4480 4.4 | -
&| kg M LRI — | BB | PR bR F;I:i”j Lk I
AT LA X
1 R —f 128 13—~ —| -
2 BRSO 30 | L1 25F 33 25 25— —
| NEHLI~4ATH B — | BB | LbME LhME YR kMR - —
U FFAW AL B A — | B LEME bk bk bkl | —
(ke gl | e
1 FEAHXE — 1 14— - = =
2 LRPSDOREK 30 | L1 20 doh 14 14— —
T e — | BEMR | PbUE bR bvE KMy - —
+H F P X B - 12 o - - - -
LRCLLA o Xt 30 | L1 27 4o 22 22— -
7o & o [ik::x(«=ez7 — | BEAR | PR LhYE HevE pkMy | —
LR X Ik 30 | L1k 25 39 13H 13 | —
ol it hikczplae: 3 — | BERR | LEWE bhYE v rky | —
AL AR X ik
1 R MR — |l nrm 5 S




aF0 35y 5 2 % 3H
[ELIERE S i ___ EEHREE
o rm wkrd] B R B 5 | BEREEREECET SRS
% i a i # @ #
| it 2 EERRES oK 30 L1 25/ 44 137 13 - -
T| HigE b Kk — | BEMR | HEME HME b ol | —
Gkl e
1 MR — 128 13 | | | —
2 EREADORKIEK 30 | L1 2efh 37 18 18 | —
FH1~8TH (iR (ES — | E&BR | LLME LkME peME kv | -
AL R (I
1 BRI —ft 12t 15—~ | | -
2 kRSO 30 | L1 29 37 3P 3y | —
78 PIR1~3TH =t — | BEBR | MLTE WYE YR HWE - —
o B, (g plares — | BeMR | Kkl bk kv bWy | -
A LA ek 30 | L1 25 39 18f 18 | —
i3 2 Dk (AER — | BB | PRHE bRME bRYE MR —| -
A E A X
1 BAMXE o L R e
2 ERPADORE 30 | L2\ 29 37 18t 18—  —
K AL P — | B LEME bk bk bkl | —
[ERcgl oLt
1 FEAHXE - e s~~~ =
2 LRPSDOREK 30 | L1 sof d2fh 13 13 | —
Oy R (L X 40 | 11| Fb¥E PRE LbvE ey - -
BT LA X ik
1 BRI —#t 5.8 5.8 — - —| -
2 EEUADKIE 30 | L1F 17 27HE 5080 5.0 |
~ #1~10TH i — | B HME bWE bevE W | —
13 548 Ez2E — | BER Lk¥E v e e | -
A I lizicRlaze:n
1 R M — | BEAR | bhHE B LW i - -




aF0 35y fis 2 % 4H
LI e il __ HERBREE
S e suskEr| w0 W w0 w4 [P FEHERTIBERIORES
% i a 2 # f# # e
A A 2 EREA O 40 | 11| k¥ bhWE VR My - —
L AR X dak
1 FEF M e e e e
2 EERLIA ORI
(1) &)l LA o sk 30 | L1 34 a4 7.0 7Y | —
(2) 4RI LARE o Hhs 30 | L1 34 44b .00 .00~ —
W B LRI — | BE&HR | Pk bk¥E LevE e |
AL AR X
1 BRI —t 18 15—~ —| -
2 BRSO 30 | L1# 25 38 284 28 0 — =
W BALFLI~6TH  |[HEERRK — | BB | M bede peME bedy | —
AL TR Kk
1 Rk —l 12 o211~~~ —
2 BRSO 30 | L1|fF o2sh 37 25 25— —
A 7S Hitjk I
1 J RECEBRLARS O ik — | BB | LbME LhME YR kMR - —
2 _FERLISNO Hilk 40 | 1.1 HeH kAR bevE MR - —
(ke gl | e
1 FEAHXE - e s~~~ =
2 ERUADKIR 30 | L1fF 3R 46 17 17— =




